
Resumen cinemática 

MRU 

𝑥 = 𝑥0 + 𝑣(𝑡 − 𝑡0) 

MRUA 

𝑥 = 𝑥0 + 𝑣0(𝑡 − 𝑡0) +
1

2
𝑎(𝑡 − 𝑡0)

2 

𝑣 = 𝑣0 + 𝑎(𝑡 − 𝑡0) 

Caída libre o tiro vertical 

𝑦 = 𝑦0 + 𝑣0(𝑡 − 𝑡0) −
1

2
𝑔(𝑡 − 𝑡0)

2 

𝑣 = 𝑣0 − 𝑔(𝑡 − 𝑡0) 

Tiro parabólico 

X  MRU: 

𝑥 = 𝑥0 + 𝑣𝑥(𝑡 − 𝑡0) 

𝑣𝑥 = 𝑣𝑐𝑜𝑠𝛼 

Y  Caída libre: 

𝑦 = 𝑦0 + 𝑣𝑦0(𝑡 − 𝑡0) −
1

2
𝑔(𝑡 − 𝑡0)

2 

𝑣𝑦 = 𝑣𝑦0 − 𝑔(𝑡 − 𝑡0) 

𝑣𝑦 = 𝑣𝑠𝑖𝑛𝛼 

𝑣 = √𝑣𝑥
2 + 𝑣𝑦

2 tan 𝛼 =
𝑣𝑦

𝑣𝑥

Academia ciencia y más

Instagram: @academiacienciaymas Youtube: Academia Ciencia y más

Academia Ciencia y más



 

 

 

Academia ciencia y más

Instagram: @academiacienciaymas Youtube: Academia Ciencia y más

Academia Ciencia y más




